Chemistry 1410 Spring 2005
Quiz 2, Section 1, 15 pis

Name {please print)

Rate —k[AP[B];  In[Al[Al,=-ki;  Iln[A] =-kt+M[Al; tin=0693%;

V[A] =kt+ 1JAl; k=Aexp(-E,/RT) Ink - (-E/R}1/T)+ In A;

R — 831 I'molK, R = (1082 .atm/mole K
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1.(2) For the chemical reaction system described by the diagram below, which
staternent 1s true?

Energy

Reaction Progress

A. The forward reaction is cndothermic.

B. The activation energy for the forward reaction is greater than the activation
energy for the reverse reaction.

C. At equilibrium, the activation cnergy for the forward reaction is equal to the
activalton energy for the reverse reaction,
The actuivalion energy for the reverse reaction 1s grealer than the activation
energy for the forward reaction.

E. The reverse reaction is exothermig,

2. (2) When the concentrations of reaclant molecules are increased, the rate of reaction
increases. The best explanation for this phenomenon is that as the reactant
concentralion ineredses,

A the average kinetic energy of molecules increases.
the frequency of moelscular eollisions increases.

C. the rate constant inersases.

1. the activation cnecrgy increascs.

E. the order of reaclion increases.



3 The firsi-order rate constant for the decomposition of N;Os:

NxOs(g) = 2N0:(g) + 1/20n(g)

ALT0°Cis6.82x 107 5, Suppose we start with 0.0300 motes of NyO+(g)ina
volume of 2.5 liters.

2) (21 Find the half-lifc for this process.
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1) {5} How many moles of N2Os will remain after 2.5 mimates?
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4. (4) Find the activauoen energy for the following reaction given the data below. (If
you wish to find the slope {Ay/Ax), there is no need to plot it, just use the data
below to define the straight line. There are two ways o de this problem, one
requires the slope, the other does not.)
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